‘!\75 de ¥od /East Coast Railway
EITURIE #2e/Khurda Road Division

e ASUC T & Fhdl & HUR W II-Hr 98 7 srerdaT A 8 IUGFd A R
TF1/Question paper for assessment of suitable for compassionate appoint in Group -'C” post on
compassionate ground for under graduate level. ’

ok ok o ok ke ok
quiie /Total Marks — 100 feti®/Date : 10.04.2025
Fel §eFeTel/Total Section : IV (Four/dR) FHI/Time : 90 fiAz/Minutes

mmmmﬁ&ﬁﬂam#ﬁmmmmmmﬁmﬁm

HERIOT HT HaaldsT ®1l/Please read below mentioned instructions carefully and in case of any
ambiguity and confusion, English version to be followed.

" RFA/Section A: HTHATT SATITR&HAT /General Awareness 20 37d&/Marks
(A 1 36 H g, &l 20 9 £ | Each question 1 mark, Total 20 questions 1)

HFAA/Section-B Wiﬂfﬁ 3 dH/General Intelligence and Reasoning - 25 3/ Marks
(A% | 3 T § | Tl 25 I §/Each question 1 mark, Total 25 questions)

[FA/Section-C 3HFHATOTT /Arithmetic — 25 3@ /Marks
(IcA® | i HT § | Fel 25 9% §/Each question | mark, Total 25 questions)

AFU/Section-D  dVTaATcHS/ Descriptive - 30 3% /Marks
(T 07 9%, AT 6 37 HT S| 3Tl FY FE 87 05 T BT I &= HfAGT @/ Total 07

questions of 6 marks each. Candidate has to answer any 05 questions)

ok ok ke ok

HFAA/Section-A
HTHTT ATI®Sh AT /General Awareness
(% HEAT 01 & 20/Question No.01 to 20)

0. @l O U SIFEIEE 3ITTH H THE 3cUed §? Which state is the leading producer
of bauxite ore?

(A) 3Nf2AM/Odisha (B) AERISE/Maharastra,
(C) 3Y 9&21/Andhra Pradesh (D) 38R We=M/Uttar Pradesh
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03.

05.

06.

07.

08.

SereEr # g ¥ P T HRA FT Ha® T3 TST &2 Which is India's largest state
by population?

(A)fe8R/Bihar (B) 31f32m/Odisha
(C) AT 9e2/Madhya Pradesh (D) 3¢ 9&2/Uttar Pradesh

fFg 2o & I I{{Hﬁ 3@' & T H FAT ATAT 82 Which country is known as
the ‘Land of the Rising Sun’?

(A) 32T/ Indonesia (B) SITUTe/Japan
(C) AR India (D) #ei&T/Srilanka

miﬁf;ﬁﬂ'mﬂmmmmmg?Whichislndia‘ssmallest

state by area?

(A) 3HH/Assam (B) fRAT9e 9e2/Himachal Pradesh
(C) IMAT/Goa (D) AfASATZ/Tamilnadu

g adi@ #, gud A A% A A dATAZ F TAEH F ARd F TEd

Feanr Qe Fﬁﬂ' 9el &1 3cHICT f&aT? On which date, Prime Minister Narendra
Modi inaugurated India’s first vertical lift sea bridge in Tamil Nadu’s Rameswaram.

(A) 05.04.2025 (B) 06.04.2025 (C) 05.03.2025 (D) 06.03.2025

HRAT §HE & 390 Hed &I fFH A7 § ST JET & - The upper house of Indian
Parliament is known as —

(A) ST |HAT /The Rajya Sabha (B) @& HT /The Lok Sabha
(C) @417 FHT /The Vidhan Sabha (D) fatmsr 9f¥e /The Vidhan Parishad

ARAAT & HEAeT HI g §T A AfAT AT I™T § - /The Chairperson of the Lok
Sabha 1s designated as — :

(A) IFdT /Speaker (B) 3T&T&T /President
(C) 3UTEET/Vice-President (D) YHTAHA/Prime Minister

AR & T I5T A ugell ARRET FEIHA T A? Which Indian state had the first
woman Chief Minister ?

(A) 3T 9&/Uttar Pradesh (B) A#ET Wez/Madhya Pradesh
(C) RafFwa/Sikkim (D) 3¥0TIe 9&2W Arunachal Pradesh
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09.

10.

11.

12,

13.

14.

15

SAFH IR R F TSI Eﬁ' W Fild FLAT §? Who appoints the Governor of
Jammu & Kashmir ?

(A) 9RE % GUTAHA/Prime Minister of India  (B) HEIHA/Chief Minister
(C) ¥R & TsgUfd/The President of India (D) AR/ Governor

HRA & dgol Tsgufd f=iehr 9 9T @d gU f@Ue g 14T First president of India

who died while in office.

(A) SR g#eT/Zakir Hussain (B) Tl WHIG/Rajendra Prasad
(C) STaER ATl Ag®/Jawahar Lal Nebru (D) BXER GCel/Sardar Patel

HRT T Uger AT TIHESS Grgee did g ? Who is the First women Airline pilot of
India?

(A) AT 2d/Hema Devi (B) FEIaT FEIF/Babita Savarkar

(© E‘,?T‘[ deToi1/Durga Banerjee (D) S¥gT rAT/Neha Sharma

Fret & 3w A 59 9 F JT AEr §7? Study of insects is known as what?
(A) Bfad safaw/Astrology (B) 3AAAIS Emetology
(C) FrefaaT= /Entomology (D) #fa=1reT/Geology

dleer eaf & TEATTH JE T A AH FAT §? Founder of Buddhism Buddha’s
original name is what?-

(A) Feaml/Siddhartha (B) gs&d/Dushyant
(C) HHRT/Samara (D) HglcAT/Mahatma

e e A 'HRT T AT AeT FeT AT &2 Which city is called “Silicon city

of India”™?

(A) SaTel%/Bengaluru (B) IM@T1/Goa
(C) SR/ Jaipur (D) 7S f&eell/New Delhi

sy @7 drerar A1 RepifEer AR scafa & faw fhw sueor & sgawT fHar smar
2?2 Which Instrument is used for recording & origin of intensity of earthquakes?

(A) 9ehTRT HIEY/Light Metre (B) g81/Clock
(C) FIEY/Seismograph (D) AIATIY/ Thermometer



16

17

i8

19

\ AREA o
IEdrue (SfRae NfFEAT o) 2024 & TR fF8e AT/ Who won the title of IPL
(Indian Premier League) 20247

(A) Fee78 FIX f&780/Chennai Super Kings (B) ISR ISEH/Gujrat Titans
(C) BITHIAT ATSE ASSW/Kolkata Knight Riders (D) Ha% 3f237W/Mumbai Indians

AAT TEHR IIed FIH T Tgo TRAE Hled §2 Who is the first Asian to receive

Nobel prize?

(A) &f&H T=g/Bankim Chandra (B) BER Yd/Sardar Patel
(C) Wigarer EMT/Rabindranath Tagore (D) @Y ATl Ag®Jawahar Lal Nehru

ARG & GO O UfiE FeUHEdd §AGT did AT g/ Which is the smallest
religious minority community of India?

(A) URT&A/Zoroastrians  (B) WfMuslims
(C) S|SAT/Christians (D) RA@i/Sikhs

rafaf@d & @ si7 a7 39 av &1 yAfafRca &ar § 5ad e 8 ¥Rd |

HIFHACT fHAT AT? Which of the following represents the year in which Alexander invaded
India?

(A) 323 BC (B) 324 BC (C) 326 BC ~ (D)328BC

FATATT G HI STwH Pl GHT AT? Where Lord Buddha was born?

(A) a=Tell/Vaishali (B) Grefg=/Pataliputra
(C) AfFa=l/Lumbini (D) M9 A/Bodh Gaya
JFAA/Section-B

AT gzj'v?rah d®/General Intelligence and Reasoning
(WA HEAT 21 A 45/Question No.21 to 45)

=@ fafter & 38 54, 165,276,387, .. TG el AN e AT AR
Look at this series: 54,165,276,387, ... What number should come next?

(A) 496 (B) 497 (C) 498 (D) 499

=@ fafer & 3d: 7153163, 127, . 9T Hlad W A4 AT AR
Look at this series: 7,15,31,63,127, ... What number should come next?

(A) 253 . (B)254 (C) 255 (D) 256
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]
g

25,

26.

27

28.

29,

zw Rt @Y 3@ 11,23, 48, 99,202, . 3TN Fis AT Fax 3T Arfgw
Look at this series: 11, 23, 48, 99, 202, ... What number should come next?

(A) 406 (B) 407 (C) 408 (D) 409

afg v g s 7 1 YSTIFY' #t 'NZTUJGZ & &7 & @ifsd fam Siian @,

ar 3§ oSt & 'NEMESIS' @ H@ #ifdd & STeem? If in a certain language
*“MYSTIFY’ is coded as ‘NZTUJGZ’, then how is ;NEMESIS’ coded in that language?

(A)MDLHRDR  (B) OFNFTJT (C) ODNHTDR (D) PGOKUGU

zu faRsr @ & D10, GI3, _, MI9, P22 Raad ¥e & fFw d&mr & ¥
ATRT? Look at this series: D10, G13, __, M19, P22. What number should fill the blank?

(A)E12 (B) 116 (C) Q18 (D)A25

& gy & e 27 A8 #F gAE Feist a1 €2 Which two months in a year have the

same calender?

(A) 38 AR e/ April & July (B) 3 3R FdaT/April & November
(C) 31T AR 3reFgaR/June & October (D) 3Fcat AR fEHET October & December

af TgeT IECER AR §, aF 15 FGEX FAT QI? If first October is Sunday, then
what will be 15 November?

(A) B1FAR /Monday (B) HITTAR /Tuesday
(C) THaR/W ednesday (D) TTEFaR [Thursday

dg 3xr§f?r ?:l)ﬁ' S aifral @ 9T 81 Choose the figure which is different from the rest.

21919 c|

M @ 6 @® 06

(A)1 (B)2 (€)3 D)4

el &r @Ist/Find the correct one: NUMERAL : UEALRMN : : ALGEBRA : ?

(A) LRBAGEA (B)BARLAGE  (C) LERAGBA (D) LERABGA

e 06 C3=323T 288 C8=36,adAT408 C 6="7/1f96 C 3 =32 and 288 C 8 = 36, then
408C6="7 : :

(A) 62 (B) 60 (C) 64 (D) 68
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3.

57

33

34,

35.

36

IANEIACC T Rk oItd A @FI ‘ﬂi} inikSing word out of the given option.
"ol HAY oATAIET ? / Clock :Time :: Thermometer : ?

(A) ITHT/Heat (B) faféior/Radiation
(C) 3aA1/Energy (D) AT9HAT/ Temperature

RuarREead !?I'F_!'Q‘T Mg {ﬁt’l Find the missing word out of the given option.
qﬁm : ﬂlﬁ - 7 - &fadr / Sculptor : Statue - ? : Poem

(A) Bfd/Poet (B) &@d®/Writer (C) IMAH/Singer (D) fAFFHFR/Painter

2w 7w R faseat A @ 3T =g ?_-laﬁ'I/Choose appropriate word from four choice given.

gaor &1 yfafars 3W@ 9aR § 58 9&R ar=lr &1 22 Mirror is to Reflection as
Water is to ?
(A) dTefeT/Conduction (B) dTd/Dispersion

(C) @\ Immersion (D) 3rgad«/Refraction

TR REcat # 7 & 7 Sﬂi'l_?ﬁ (X)r |er gdor af 'flﬁlChoose the correct mirror

image of the given figure (X) from amongst the four altematives.

(A1 (B)2 (©)3 (D)4

11 & 50 a& 0dr fFaer g ¥ S 7 @ &% fwsy § afda 3 @ fasrsy

#Ael &2 How many numbers from 11 to 50 are there which are exactly divisible by 7 but not
divisible by 3?

(A)2 (B) 4 (©)5 (D)6

AT g & @ 99 e AReg alF ¥ @A § AR e vF 6eg

" g #1 a8 Fi @1 ¥ S 39 WAg ¥ Hefla el 87 / Three of the following four

are alike in a certain way and hence form a group. Which is the one that does not belong to
that group?

(A) @31/ Clove (B) gTerdi=h/ Cinnamon
(C) @relr TAd/ Pepper (D) @HT=A/ Apricot
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37.

38.

39

40.

41.

waﬁnﬁraﬂtgﬂmmggﬁ#mﬂa‘s’mm$mﬁa€ﬁaﬁ

T werA RE @ FIE'EET ¥ g & &7 GE §7/ Pointing to a photograph, Hari

said, "She is the daughter of my grandfather's only son”. How is Hari related to the girl in
the photograph?

(A) a1/ Father (B) ﬂl%’/Brother (C) T9Y 3/Cousin (D) ITAT/Uncle

fAafaf@a & 9 #la @ smid gEd @ &= £? Which of the following figures is

different from others?

e dk duAn

A B & D . &
(A) ST A / figure A ~ (B)3Hfd B/ figure B
(C) 3T C / figure C (D) 3THfA D/ figure D

3tz A7 HSIC BT T A= 82/ Which word is the odd man out?

(A) AR AT/ hate (B) 3T /fondness
(C) TEE/ liking (D) Hﬂ?ﬁﬁ'f attachment

Ru av fA&eal d A g wsg Ad RAfATI Find the odd word from the given

alternatives.

(A) HYEr /Ladder (B) Eifear /Stgircases
(C) 9T /Bridge (D) TEFHele /Escalator

ww RO & g ¥ R & e g &1 Rl A 9u A & fw R e
I J ¥ ) Ree™ g AT A series is given with two terms missing. Choose the

_correct alternative from the given answer to complete the series.

MNOABCPQRDEFST 7?7

(A) GK (B) UV (C) GH (D) UG
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43.

45.

46.

mﬁwﬁmmﬁﬁqﬁiﬁ{m'mnﬁEﬁﬁmm:marrsné
HIOT ¥ HEAT el ¢ IR I8 Waar § & 3¥or &1 a9 60 fFar ¥ 30w
afda 70 el & FA 1 3aH AT & AT ¢ & 3aFT a3 08 Fal ¥ e
a8 & TEhar AR F W F9X A A T E A 3o & e wafdw

aatet &1 A\A FIT 87/ In Arun’s opinion, his weight is greater than 65 kg but less than

72 kg. His brother doesn’t agree with Arun and he thinks that Arun’s weight is greater than
60 kg but less than 70 kg. His mother’s view is that his weight cannot be greater than 68 kg.
If all are them are correct in their estimation, what is the average of different probable
weights of Arun?

(A) 67 f&ar /67 kg (B) 68 T / 68 kg
(C) 69 & /69 kg (D)3 & ai'lé' #fr A&V None of the above

frafaf@a e A, B ot et 7 & fAws 318R/378RT 1 a3a FLIn the following
question, select the odd letter/letters from the given alternatives.

(A)IMQ (B) FIN (C) OSX (D) NRV

s [Afad #1g 99T . 'FAINT' #1'2014916' & 9 # HIfed &ar Jmar €, 3 'GRME!

FT'513187 & ¥ & RS g Jrar &1 39 3191 & 'POIL' & $& :f3T far ameamy/ In

a certain code language, 'FAINT' is coded as '2014916', and '"GRME' is coded as '513187'.
How will 'POIL' be coded in that language?

(A) 1295116 (B) 1291516 (C) 1219516 (D) 1291561

fw are fasreal 7 & 30 FE3 &1 99 Y N Aestai@a Bl & wea fea o) &
gfasafa & EH1 12, 25, 51, 103, 207, ? / Select the number from among the given
options that can replace the question mark (?) in the following series. 12, 25, 51, 103, 207, ?

(A) 415 (B) 413 (C) 416 (D) 414

JeFa/Section-C
&0/ Arithmetic
(W31 HEAT 46 / 70/Question No.46 to 70)

AR { dedh & fav 2 Rave IR Eaa’ @ dlg@r & v da Rwe 6
A 77 I B, AfhA @A ¥ Fich U F fAv e R AR gaeieaw @
dlggrR & fAv ar Reve 6t FrAa 73 T0F §) HaaRal § Fedh IR a4

dlear d& & AT f&dar 82 Two bus tickets from city Bhubaneswar to Cuttack and

three tickets from city Bhubaneswar to Chowdwar cost Rs. 77 but three tickets from city
Bhubaneswar to Cuttack and two tickets from city Bhubaneswar to Chowdwar cost Rs. 73.
‘What are the fares for cities Cuttack and Chowdwar from Bhubaneswar?

(A)Rs.4,Rs.23  (B)Rs.13,Rs. 17 (C)Rs.15,Rs. 14  (D)Rs. 17,Rs. 13
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47.

48.

49.

50.

51.

52

53.

54.

UF HAH B PrAd 7 T g6l AR vw ARG H A 5 9T g | IR
e 3 Fell W FT 38 TUA @A &l §, Al 384 fhdal AT @AL? Cost

of a pineapple will be Rs. 7 each whereas a watermelon will cost Rs. 5 each. If the man
spends a total of Rs. 38 on these fruits, then what is the number of pineapples he purchased?

(A) 2 (B) 3 (C) 4 (D) 3eT 9ATcd Al &/ Data inadequate

T & U 1 T & R, 5 I & R A 10 w9 & R & et
# o 320 T9F A Tg 2WA gU 6 W HpHad & Wad A HEA FAA ¢

386 9 LG fhaey @@ §? Raju had 2 total of Rs. 320 in the denominations of 1-

rupee coins, S-rupee coins & 10-rupee coins. Given that the number of coins for all the
denominations is same. What is the total number of coins that he has?

(A)45 (B) 60 ()75 (D) 90

UF Torhlel 9 FI FaRl &1 OGS FAT G192 What will be the product of all the
numbers on a telephone?

(A)345345 (B)686680  (C)787950 (D)3 ¥ @IS ai/None of these

T &7 40% 240 & / 40% of 2 =240
(A) 600 (B) 60 (C) 6000 (D) 960

2Y 912y U ¥ A HAL: 20 A 3R 30 Bae & sy waa 81 3 =1 argat & v @y

@re fear e, ar fahasir @aT 7 Eéhr ST ST Two pipes can a fill a tank in 20minutes

and 30minutes respectively. If both the pipes are opened simultaneously, then the tank will
be filled in:

(A) 10 fATZ/minutes (B) 12 fA=T/minutes

(C) 15 fAsTE/minutes (D) 25 fA«/minutes

I 252+25b=115, A a 3 b&T 3TT FIT 87 If 25a+25b=115, what is the average of
aand b?

(A)2.5 (B)3.5 (C)4.6 (D) None of these

w T # 76% BT A5k ¥ AR asfEd A e 2048, A ot A 39 wE=w

fahaet 87 76% of the students in a school are boys. If the number of girls is 204, the total
number of students is ?

(A) 760 (B) 800 ' (C) 850 (D) 900

& WEAIT 3:5% e A § ARk g@E A § 9 uer fear S ar 3A@r I

. 12:23 8T SATAT Bl 98y HEAT 40 &7 Two numbers are in the ratio 3:5. If 9 is subtracted

from each, they are in the ratio 12:23. What is the larger number?

(A) 40 (B) 45 (C) 55 (D) 60
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25,

S5

58.

39.

hours will the car cover the distance?

(A)6°¢/6hours  (B)7He/Thours (C)9HE/9hours (D) 12He/ 12 hours

wmmmmmsnmtmmmgmmmmm

¥hs A 42 A $ g 77 FA 81 FR T aafas i3 A1d FETI /A car

travelling with 5/7 of its actual speed covers 42 km in 1 hr 40 min 48 sec. Find the actual
speed of the car.

(A) 20 f&. 7. /a2T/ 20 km/hr (B) 25 f&.#Y./aer / 25 km/hr
(C) 30 f&.# Y. /aeT1 / 30 km/hr (D) 35 6. #8421/ 35 km/hr

I RFT Hed & goar R Jv @ o R @ Sar &1 e gfawa
ATd FITAA? / If selling price is doubled, the profit triples. Find the profit percent?

(A)100%  (B)200%  (C)300%  (D)400%

Teh Udr o 39« 9¢ & &gl "H HG9& ofed & AT 39S S a2 an" I
ar & 3mg el 38 ad R, ar 5 a¥ ugel GF @Y I FAT A/ A father said to his

son, "I was as old as you are at the present at the time of your birth". If the father's age is 38
years now, how much the son's age five years back?

(A) 14 (B) 19 (C)33 (D) 38

8 SafFaal &1 g aaa 2.5 fF.am 9 Jar § 39 398 ¥ U Ifed &1 dofe
65 fh.am. & TUF W UH AT AfFT AT §1 AC AfFT & a9 Fr @ FHhar

#? / The average weight of 8 persons increases by 2.5 kg when a new person comes in place
of one of them weighing 65 kg. What might be the weight of the new person ?

(A) 70 fFaiTama/ 70kg (B) 75 faarm#1/75 kg
(C) 80 fralam#/ 80 kg (D) 85 fahelramay 85 kg

60. Tdh glar 15 #Hex oar 3R 12 #Aex ater &1 3l w7 3R a9 & A3wa & Aer

IR EaRT & &G & AT & SaET &, dl gl HT HATIdST FAT 2A hall is 15 meter

long and 12 meter broad. If the sum of the areas of the floor and the ceiling is equal to the sum
of the areas of four walls, what is the volume of the hall?

(A) 720 g HIZX / 720 cubic meter (B) 900 Ta HIZI /900 cubic meter
(C)1200 gs #HIET /1200 cubic meter (D) 1800 &« #Hrex/ 1800 cubic meter
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61.

62.

63.

65.

66.

67.

e T, wﬁaﬁaﬁmm@ w ¥ @ 2 Rt F T W v m A

1 e & @ & & v 4 oot & R & Faa g F19 T Afew? Three pumps,

working 8 hours a day, can empty a tank in 2 days. How many hours a day must 4 pumps
work to empty the tank in 1 day?

(A)9 (B)10 (C)11 (D)2

A, B 3R C & &H & HAU: 20,303ﬁ160ﬁﬁﬁaﬂm§|uﬁA$‘r3?

freY R B 3R C ZarT Wermar Aadr § ar A fras et # &1 & whar 27 A

B and C can do a piece of work in 20, 30 and 60 days respectively. In how many days can A
do the work if he is assisted by B and C on every third day?

(A) 12 f&eT/days (B)15 &a/days  (C)16 Ra/days (D) 18 Rsi/days

m3a&$mwaF#Saﬁﬁﬂmgﬂmwsoﬁﬁlmmm

& 37 F4r 3” The sum of ages of 5 children born at the intervals of 3 years each is 50
years. What is the age of the youngest child?

(A) 4 (B)8 (C)10 (D) 3T ® HIS Ag1/None of these

F ARgd o w 2 avf § Av 4% vy af & X @ affs s @@fsa
A e TR 3R IHIET ;S F g # AR T 1 ¢ | A g7 IR (I

#) &1 7 The difference between simple and compound interests compounded annually
on a certain sum of money for 2 years at 4% per annum is Re. 1. What is the sum (in
rupees)?

(A) 625 (B) 630 (C) 640 (D) 650

qar A &) FwaR aF W e 12 dcw a3 mﬁmﬁmﬁf-\wa’%meemam
12 laps every day for two weeks. How many laps did shcnmmallV

(A)150 (B) 158 (C) 168 (D) 170

TH ZUF H UH URT AT FAEE 175000 ¥ d@dd 2,62,500 & WS 9fF aw

Fadear & g ufdea H‘_Eﬁﬁ' FIT 82 The population of a town increased from

1,75,000 to 2,62,500 in a decade. What is the average percent increase of population per
year?

(A)437%  (B)5% (C) 6% (D) 8.75%

20 FEGHT FT AT He X I F w7 7eT & wAe g1 AR A 25% g A

X' & HeT FAT 27 The cost price of 20 articles is the same as the selling price
of “X’ articles. If the profit is 25%, then what the value of “X*?

(A) 15 (B)16 (C) 18 (D) 25
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68.

69.

70.

76.

71.

el @ afés 3mr 288000 mm Sudr arfie Taa ARr 36000 T ¥

3HET gﬁ-l’ af¥e g3 T 3’7 Rajendra’s annual income is Rs. 288000. His annual
savings amount to Rs. 36000. What is his total yearly expenditure?

(A) 216000 (B).252000 (C) 324000 (D) 360000

fPrfaf@a # dca @& Ard AT Find the missing number in the following:
7-24+8x7+6=1

(A)2 (B)3 (C)4 (D)5

UF GAURY A AL B 'C AR D' F AT 5 20 403 & Jeurd A faaRa A s
g1 I ¢ & DA 1000 X HOF Bed & O ‘B 1 REAr fFHdar 2 A sum of

money is to be distributed among ‘A’, ‘B’, ‘C” & “D’ in the proportion of 5:2:4 : 3. If °C’
gets Rs. 1000 more than “D’, then what is the share of ‘B'? '

(A)Rs. 500 (B)Rs. 1500  (C)Rs. 2000 (D) SAH ¥ IS AE/None of these

HFA=A/Section-D :
quiATcH®/Descriptive
(93T E@EAT 71 & 77. /Question No.71 to 77)
F@a 7 A faheel 9T & 3a% AT/ Answer any five out of seven)

N STel HIA / Rain water harvesting
CefEZeh YENUT / Plastic pollution
HAT HFff?f 3 939 /Indian Culture and tradition
Tl & faw RAew - ARAHT @ AFHTA / Education for all - starting with women
F @A Taa A7 A9 Z@T IT1 A picnic spot you visited.
a5 & A% wfasy $ir FITﬁEﬁﬁFHMy mother my future guide

JrET - a9 IR 37E/ Travelling — Then and now

LA L L Ll L
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